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š[¹[³t¡ * ™=à™= l¡üv¡ì¹¹ \>¸ [¤ìÅÈ ³èº¸ ëƒ*Úà Òì¤¡ú "Ç¡‡ý¡ ¤à>à>, "š[¹ZáÄt¡à &¤} "š[¹ÍHþà¹ 
ÒÑzàÛ¡ì¹¹ ëÛ¡ìy >´¬¹ ëA¡ìi¡ ë>*Úà Òì¤¡ú l¡üšàì”z šøìÅ¥¹ ³èº¸³à> Îè[W¡t¡ "àìá¡ú 

Special credit will be given for precise and correct answer. Marks will 
be deducted for spelling mistakes, untidiness and illegible handwriting. 

The figures in the margin indicate full marks. 
 

 [¤®¡àK - A¡ 
Group - A 

   ë™-ëA¡àì>à ƒå[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ>¡¡ú  
  Answer any two questions.  18  × 2 = 36 
1. Îà³à[\A¡ Î³Î¸à¹ Î}`¡à [ƒ>¡ú Îà³à[\A¡ Î³Î¸à¹ t¡à[wA¡ ¤¸àJ¸à [>ìÚ &A¡[i¡ šø¤Þê¡ [ºJå>¡ú   
 Define social problem. Write an essay on theoretical explanation of 

social problem.  4 + 14 
2. ƒà´št¡¸¡ A¡ºìÒ¹ [¤[®¡Ä A¡à¹oP¡[º A¡ã A¡ã¡ ? ®¡à¹ìt¡ [¤¤àÒ [¤ìZáìƒ¹ šø‹à> A¡à¹o &¤} 

š[¹o[t¡P¡[º A¡ã A¡ã ?  "à³àìƒ¹ ëƒìÅ &Òü Îà³à[\A¡ Î³Î¸à [A¡®¡àì¤ [>Ú”|o A¡¹à ™àÚ ?   
 What are the different reasons for marital conflicts ? What are the 

major causes and consequences of divorce in India ? How can we 
control this social problem in our country ?  5 + 8 + 5 

3. ëA¡à>ô [ÅÇ¡ìƒ¹ ™â¥ &¤} Îå¹Û¡à šøìÚà\> ?  [ÅÇ¡ìƒ¹ ™â¥Òã> &¤} "[>¹àšƒ "¤Ñ‚à¹ \>¸ šø‹à> 
A¡à¹oP¡[º A¡ã A¡ã ?  &Òü Î³Î¸à ë³àA¡à[¤ºàÚ ®¡à¹t¡ Î¹A¡à¹ A¡ã A¡ã¡ ¤¸¤Ñ‚à [>ìÚìá ? 

 Who are the children in need of care and protection ? What are the 
major causes which leads the children to be in an uncared and 
insecured situation ? What are measures undertaken by the Govt. of 
India to combat this problem ?  2 + 8 + 8 

4. "à³àìƒ¹ ëƒìÅ ¤ÚÑHþìƒ¹ šø‹à> Î³Î¸àP¡[º A¡ã A¡ã ? &Òü [¤ÈÚ[i¡ "à³àìƒ¹ \>¸ ëA¡> &A¡[i¡ šø‹à> 
l¡üì‡K ÒìÚ l¡üìk¡ìá ?  &A¡\> Î³à\A¡³¢ã [ÒìÎì¤ "àš[> t¡àìƒ¹ "à=¢-Îà³à[\A¡ "¤Ñ‚à¹ l¡üÄ[t¡¹ 
\>¸ A¡ã ‹¹ì>¹ šøìW¡Ê¡à [>ìt¡ šàì¹> ? 

 What are the major problems of aged in our country ? Why is it 
becoming a major concern for us ? As a social worker, what efforts can 
you take to improve their socio-economic situation ?  8 + 4 + 6 



QP Code: 22/PT/10/XI-OLD 2  

  PG/TE-2099  

[¤®¡àK - J 
Group - B 

   ë™-ëA¡àì>à [t¡>[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ>¡¡ú 
   Answer any three questions.  12  × 3 = 36 
5. ®¡à¹ìt¡ ë³ìÚ * >à¹ã šàW¡àì¹¹ šø‹à> A¡à¹o [A¡ ?  [A¡®¡àì¤ "à³¹à &Òü Î³Î¸à¹ ë³àA¡à[¤ºà A¡¹ìt¡ 

šà[¹ ? 
 What is the main cause of trafficking of girls and women in our 

country ? How can we tackle this problem ?  5 + 7 
6. "à³àìƒ¹ Î³àì\ [A¡ìÅà¹ "š¹à‹ [>Ú”|ìo "à³¹à A¡ã A¡¹ìt¡ šà[¹ t¡à [>ìÚ "àìºàW¡>à A¡¹ç¡>¡ú  
 Discuss what can we do to control the Juvenile Delinquency in our 

society. 12 
7. ®¡à¹ìt¡ \>Î}J¸à ¤õ[‡ý¡¹ A¡à¹o A¡ã ?  "à³àìƒ¹ ëƒìÅ \>Î}J¸à [¤ìÑ£¡à¹ìo¹ šø®¡à¤ [A¡ ? 
 What is the cause of growth of population in India ? What is the effect 

of population explosion in our country ?  6 + 6 
8. ®¡à¹ìt¡¹ ë™ï>A¡³¢ãìƒ¹ "à=¢-Îà³à[\A¡ * Ñ¬àÑ‚¸ š[¹[Ñ‚[t¡ Î´šìA¢¡ Î}ìÛ¡ìš "àìºàW¡>à A¡¹ç¡>¡ú  

ë™ï>A¡³¢ã¹ [ÅÇ¡ìƒ¹ [A¡ ‹¹ì>¹ Î³Î¸à¹ Î´¶åJã> Òìt¡ ÒÚ ? 
 Discuss briefly about the socio-economic and health situation of sex 

workers of India. What are the problems of the children of sex   
workers ?  6 + 6 

9. ®¡à¹t¡ Î¹A¡à¹ ‡à¹à KõÒãt¡ [¤[®¡Ä ƒà[¹‰¸ ƒè¹ãA¡¹o A¡³¢ÎèW¡ãP¡[º A¡ã A¡ã¡ ? 
 What are the various Poverty Alleviation Programmes taken up by the 

Indian Government ? 12 
10. ë¤A¡à¹â« A¡ã ? ë¤A¡à¹ìâ«¹ [¤[®¡Ä ‹¹>P¡[º A¡ã A¡ã¡ ?  
 What is unemployment ? What are the different types of 

unemployment ?  4 + 8 
[¤®¡àK - K 

Group - C 
   ë™-ëA¡àì>à W¡à¹[i¡ šøìÅ¥¹ l¡üv¡¹ [ƒ>¡¡ú 
   Answer any four questions.  7 × 4 = 28 
11. ƒà[¹‰¸ì¹Jà A¡àìA¡ ¤ìº ? &¹ P¡¹ç¡â« A¡ã¡ ? 
 What is Poverty Line ? What is its importance ?  3 + 3 
12. \àt¡ãÚ \>Î}J¸à >ã[t¡ (2002) Î´šìA¢¡ Î}ìÛ¡ìš "àìºàW¡>à A¡¹ç¡>¡ú 
 Briefly discuss National Population Policy, 2002. 7 
13. [A¡ìÅà¹ "š¹à‹ã¹ ë³ï[ºA¡ í¤[ÅÊ¡¸P¡[º A¡ã A¡ã¡ ? 
 What are the basic characteristics of juvenile delinquents ? 7 
14. ë™ïtå¡A¡ šø=à¹ l¡üš¹ &A¡[i¡ Î}[Û¡œ¡ i¡ãA¡à [ºJå>¡ú 
 Write a short note on Dowry system. 7 
15. ë¤A¡à¹ìâ«¹ Î´±à¤¸ š[¹o[t¡ A¡ã¡ Òìt¡ šàì¹ ? 
 What are the possible consequences of unemployment ? 7 
16. "à³¹à [A¡®¡àì¤ &A¡[i¡ Køà³ão Î³àì\ ¤àº¸[¤¤àÒ [>Ú”|o A¡¹ìt¡ šà[¹ ? 
 How can we control child marriage in a rural society ? 7 

   


